Roll No. 24214-0

B.Sc. Il SEMESTER [MAIN/ATKT] EXAMINATION
JUNE - JULY 2024

MATHEMATICS
[Matrices, Geometry and Vector Algebra]
[Open Elective]
[Max. Marks : 60] [Time : 3:00 Hrs.]

Note : All THREE Sections are compulsory. Student should not write any thing on question paper.
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[Section - A]
This Section contains Multiple Choice Questions. Each question carries 1 Mark. All
questions are compulsory.
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Q. 04 Slope of the line passing through the points (3, —2) and (7, -2) is -
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Q. 05 Direction cosines of the vector 1 +2 j + 3 k will be -
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[Section - B]

This Section contains Short Answer Type Questions. Attempt any five questions in this
section in 200 words each. Each question carries 7 Marks.
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Find the equation of a line perpendicular to the line x -2 vy +3 = 0 and
passing through the point (1, -2)
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ifafy |1 3 | Verify that (A +A')is a symmetric matrix.
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Find the coordinates of the point which divides the line segment joining the
points (1, -2, 3) and (3, 4, —5) in the ratio 2 : 3 internally.
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Show that the points A (2, 3, —4), B(1, -2, 3) and C (3, 8, —11) are collinear.
g BIo b favg A (2,3, 4), B(1,-2,3)Td C (3,8, -11) 9RET 2 |

Cont. . .

24214-0



Q. 07 Find the value of K if area of triangle is 5 sq. units and vertices are (K, 0),
(4,0),0,2)
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Q. 08 Find the unit vector in the direction of the sum of the vectors.
#=2i+2j-5k and b=2i+j+3k
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[Section - (]
This section contains Essay Type Questions. Attempt any two questions in this section in 500
words each. Fach question carries 10 marks.
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Q. 10 Show that the matrix 7€ PRI P S

5 2 3] Satisfies the equation THIFRU A” —4A + 1= 0 B I
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Q. 11 [If the angle between two lines 1s x/y and slope of one of the lines 1s 1/2. Find
the slope of the other line.
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Q. 12 Lf Vgctors a- 5 1—]— 3kand B=i+3 ] — 5k then show that the vectors
a-+banda—bare perpendicular.
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